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Note : (i) Section A : Answer any two 

questions. Each question carries  

20 marks. 

 (ii) Section B : Answer any four 

questions. Each question carries  

12 marks. 

 (iii) Section C : Answer both questions. 

Each questions carries 6 marks. 
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Section—A 

1. (a) A monopolist is facing two different 

demand functions : 

1 14800 600Pq  
 

and     2 24200 700Pq    

Marginal cost of production is ` 2. If the 

monopolist adopts two-part tariff 

scheme, what is the profit maximising 

price ? Draw. 10  

(b) Under natural monopoly, show that there 

is welfare loss if marginal cost pricing is 

adopted. How can this welfare loss  be 

eliminated ? Explain diagrammatically.  

10 

2. (a) For the following demand curve  

P = 20 – 2Q and constant marginal cost 

curve with a value = ` 5, find the 
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equilibrium price, quantity and profit 

according to : 12 

(i) Stackelberg Model 

(ii) Bertrand Model 

(b) Explain equilibrium under Cournot 

Model using reaction curves. Let the 

market demand curve be given by  

P = a – bQ, where 1 2Q Q Q   with 1Q  

and 2Q  being the quantities produced 

by two Cournot firms. Assume marginal 

cost as zero. 8 

3. (a) Why is the demand curve under 

monopolistic competition downward 

sloping ? Explain and compare the long- 

run equilibrium under monopolistic 

competition with the long-run 

equilibrium under perfect competition. 

    12  
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(b) Derive the relationship between price 

and price elasticity of demand in two 

submarkets under third degree price 

discrimination.  8 

4. (a) Show diagrammatically, how presence 

of externalities leads to under- and 

over- provisioning of private goods. 12 

(b) State the conditions for optimal 

provision of public goods. Show that if 

the optimal provision is not satisfied, 

then at least one individual can be 

made better off without making any one 

else worse off. 8 

 Section—B  

5. Consider the following normal form game in 

which players 1 and 2, choose two strategies 

each :    12 

  Player 2 

  C D 

Player 1 
A 8, 7 6, 6 

B 5, 5 7, 8 
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(a) Find the Nash equilibrium of the  

game. 

(b) Write the extensive form of the game 

with player 1 moving first. 

(c) Find the subgame perfect Nash 

equilibrium. 

6. How does a market for used cars turn into a 

situation of adverse selection ? Explain. 12 

7. Prove that allocation under welfare 

maximisation is also a Pareto efficient 

allocation.  12 

8. Explain any two ways of correcting market 

failure arising due to externalities. 12 

9. Find the deadweight loss, if the market 

which was competitive earlier, is now 

monopolised. The demand curve for the good 

is P = 20 – 3Q and marginal cost MC = 2Q. 

     12 
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10. (a) Explain the Free Rider problem with 

the help of an example. 6 

(b) Explain the Tiebout hypothesis. 6 

11. If any player has a dominant strategy, will 

he play a mixed strategy ever ? Explain. 12 

 Section—C  

12. Write short notes on any two of the following :  

2×3=6 

(a) Bergson-Samuelson’s social welfare 

function 

(b) Concavity of the production possibility 

curve 

(c) Edgeworth box for production  

(d) Moral hazard 

13. Differentiate between any two of the 

following :  2×3=6 

(a) Nash equilibrium in the normal form 

game and subgame perfect equilibrium 

in the extensive form game  
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(b) First degree price discrimination and 

Second degree price discrimination  

(c) Isowelfare curves of a utilitratian social 

welfare function and Rawlsian social 

welfare function 

(d) Short-run equilibrium and Long-run 

equilibrium under perfect competition 
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 BECC–108 

ch- ,-  ( vkWulZ ) vFkZ'kkò  

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&108 % e/;orhZ O;f"V vFkZ'kkò&II 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % Hkkx ^d* % fdUgha nks iz'uksa ds mÙkj fyf[k,A izR;sd iz'u 

20 vad dk gSA  

 Hkkx ^[k* % fdUgha pkj iz'uksa ds mÙkj fyf[k,A izR;sd 

iz'u 12 vad dk gSA 

 Hkkx ^x* % nksuksa iz'uksa ds mÙkj fyf[k,A izR;sd iz'u  

6 vad dk gSA 
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 Hkkxµd  

1- (d) ,d ,dkf/kdkjh ds le{k nks i`Fkd~&i`Fkd~ ek¡x oØ 

gSa %    

1 14800 600Pq  
 

rFkk      2 24200 700Pq    

mRiknu dh lhekar ykxr ` 2 gSA ;fn ,dkf/kdkjh 

f}&vaxh; izHkkj viuk,] rks vf/kdre ykHk nsus 

okyh dher D;k gksxh \ Mªk dhft,A 10 

([k) ,d izkÏfrd ,dkf/kdkj eas n'kkZb, fd ;fn lhekar 

ykxr dher fu/kkZj.k fd;k tkrk gS] rks {kse dh gkfu 

gksxhA D;k vkSlr ykxr dher fu/kkZj.k ls ;g gkfu 

lekIr gks tk;sxh \ mi;qDr js[kkfp= dk iz;ksx 

dhft,A  10 
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2- (d) ,d ek¡x oØ P = 20 – 2Q gS rFkk fLFkj lhekar 

oØ dk eku ` 5 gSA fuEufyf[kr nks ekU;rkvksa ds 

varxZr larqyu dher] ek=k vkSj ykHk vkdfyr 

dhft, %  12 

(i) LVsdycxZ izfreku 

(ii) cVªsZ.M izfreku 

([k) izfrfØ;k oØksa dk iz;ksx dj dwuksZ izfreku esa larqyu 

dh O;k[;k dhft,A cktkj ek¡x oØ P = a – bQ, 

gS vkSj 1 2Q Q Q  ] tgk¡ 1Q  ,oa 2Q  nks dwuksZ 

Qeks± ds mRiknu gSaA eku yhft, fd lhekar mRiknu 

ykxr 'kwU; gSA 8  

3- (d) ,dkf/kdkjh izfr;ksfxrk eas ek¡x oØ nkfguh vkSj 

<yok¡ D;ksa gksrk gS \ O;k[;k dhft, rFkk nh?kZdky 

eas ,dkf/kdkjh izfr;ksfxrk ,oa iw.kZ izfr;ksfxrk dh 

rqyuk dhft,A 12 
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([k) r`rh; dksfV ds dher foHksnu eas nks mi&cktkjksa esa 

dher rFkk ek¡x dh dher yksp ds chp laca/k dh 

O;qRifÙk dhft,A 8 

4- (d) js[kkfp= }kjk n'kkZb, fd fdl izdkj ckárkvksa dh 

mifLFkfr eas futh inkFkks± dk izko/kku vYi@vf/kd 

gks tkrk gSA 12 

([k) lkoZtfud inkFkks± ds b"Vre izko/kku ds fy, 

vko';d 'krs± crkb,A ;g Hkh n'kkZb, fd ;fn 

izko/kku b"Vre ugha gks] rks de&ls&de ,d O;fDr 

dh n'kk dks] fcuk fdlh vU; dks Bsl igq¡pk,] 

lq/kkjk tk ldrk gSA 8 
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Hkkxµ[k 

5- fuEufyf[kr lkekU; |wr ij fopkj dhft,] tgk¡ |wrd 1 

,oa 2 dks nks&nks ;qfDr;k¡ miyC/k gSa % 12 

  |wrd 2 

  C D 

|wrd 1 

A 8, 7 6, 6 

B 5, 5 7, 8 

(d) bl |wr dk uS'k larqyu Kkr dhft,A 

([k) ;fn |wrd 1 igyh pky pys] rks |wr dk foLr`r :i 

D;k gksxk \ 

(x) mi&|wr laiw.kZ uS'k larqyu Kkr dhft,A 

6- iqjkuh dkjksa dk cktkj fdl izdkj foijhr p;u dh fLFkfr 

eas ifjo£rr gks tkrk gS \ le>kb,A 12 
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7- fl¼ dhft, fd {kse vf/kdre djus dh n'kk esa Hkh 

lalk/ku izko/kku iSjsVks b"Vre izko/kku gks tkrk gSA 12 

8- ckárkvksa ds dkj.k cktkj esa vkbZ foQyrk ds fuokj.k dh 

dksbZ nks fof/k;k¡ le>kb,A 12 

9- ;fn fdlh iw.kZ izfr;ksxh cktkj esa ,dkf/kdkj dh LFkkiuk 

gks tk,] rks ogk¡ furkUr gkfu dk vkdyu dhft,A ek¡x 

oØ P = 20 – 3Q rFkk lhekar ykxr MC = 2Q gSA 12 

10- (d) ,d mnkgj.k }kjk eq¶r[kksjh dh leL;k dh O;k[;k 

dhft,A  6 

([k) VkbZcwV vo/kkj.kk dks le>kb,A 6 

11- ;fn fdlh |wrd ds ikl ,d izcy ;qfDr ekStwn gS] rks D;k 

og dHkh fefJr ;qfDr dk iz;ksx djsxk \ O;k[;k 

dhft,A   12 
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Hkkxµx 

12- fuEufyf[kr eas ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×3=6 

(d) cxZlu&lSE;qvYlu dk lkekftd {kse Qyu 

([k) mRiknu laHkkouk oØ dh voryrk 

(x) mRiknu gsrq ,toFkZ ckWDl 

(?k) uSfrd }U} 

13- fuEufyf[kr eas ls fdUgha nks ;qXeksa esa Hksn Li"V dhft, % 

2×3=6 

(d) lkekU; ,oa mi&|wr lEiw.kZ n'kkvksa esa uS'k  

lUrqyu 



 [ 15 ] BECC–108 

B–1537/BECC–108 P. T. O. 

([k) izFke dksfV dher foHksnu vkSj f}rh; dksfV dher 

foHksnu 

(x) ,d mi;ksfxrkoknh lkekftd {kse Qyu rFkk 

jkmyh; lkekftd {kse Qyu ds le&{kse oØ 

(?k) iw.kZ izfr;ksfxrk esa vYidkfyd lUrqyu ,oa 

nh?kZdkfyd larqyu 

× × × × × 

 

 

 

 

 

 

 

 

 

   


